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Section A Marks
Write the correct option: oM

(i) Quarter past 3 in the afternoon can be written as

a)2:45p.m. b) 3:45p.m. c) 3:15a.m. d). 3:15p.m.
(i) A cube has faces
a) 6 b) 8 c) 12 d) 10
(i) 12 x 200
a) 1200 b) 240 c) 2400 d) 3600
(iv) A leap year has days.
a) 364 b)365 c) 366 d) 367
(v) The place value of 2 in 3256
a) 2 b) 200 c) 20 d) 2000
(vi) XIX is
a) 19 b) 21 c) 29 d)9
(vii) 3600 - =0
a0 b) 3600 c) 6300 d) 360

(viii) The Roman numeral for 26 is
a) XXIv b) XXVI c) XVIX AKX VII

(ix) What should be added to 6000 to get 9360
a) 4440 3360 c) 3970 d) 3630




Section B(1M each)

(@) Write the number name of 5748 6 M
Ans. Five thousand seven hundred forty eight
(b) What is 100 more than 4539
Ans. 4639
(c) Write the expanded form of 4078
Ans 4000 + 70+ 8
(d) Draw a line segment of 6 cm
(e) Write the Hindu Arabic numeral for (0.5M each)
(i) XXXVI =36 (i) XXII122
()  Find the product of : 32 x 3@&ns 960
Fill in the blanks: (0.5M each) 3M
(@) The fevistick is cylinder in shape.
(b) A Sphere_has only one curved surface.
(c) 312x1 =312
(d) 9000 -1 =8999
(e) 312 x 100 =31200
(H 100 less than 4000 i8900
How many minutes have passed if the minute hand mes from 4 to 9? 1M
Ans : 25 minutes
Use a.m. or p.m. to write the time- 2M
(@) 9:30 in the night 9:30 p.m
(b) 10 min past 7 in the morning 7:10 a.m
Section C
Write the following in Roman numeral : 2M
@ 26 =AKXVI (b) 39 XXXIX
a. Write whether the following figures are open orsdd (0.5M each) 2 M




Open Closed
b. State whether True or False
I. A cylinder has 3 plane facefalse .
ii. A Triangle has 4 sided-alse.

Write the time shown in the clock in two way8:5 M for each correct
answer)

9:30 3:45
Half past 9 Quarter to 4

2:10 12:50
10 min past 2 10 minto 1

4M

Form the greatest and the smallest 4 digit numbiegs, 6, 0 ,9
(1Meach)
Greatest no. 9630 Steat No. 3069

2M

10

(a) Write the short form of : 2000 + 10 + 8 281¢ (AM)
(b) Arrange in descending order: (Am)
9005, 9523, 6002, 9600
Ans 9600 > 9523 > 9005 > 6002

2M

11

Write the largest 4 digit- number and subtractsimallest 3 digit number from
it.

Ans 9999  (0.5M)
-100 (0.5M)

= 9899 (1M)

2M




12 Compare and put <, >or = (1M each) 2M
@ XIX < XXl
(b)  XXXIV > XXVI
13 Subtract and check your answer: (1M for subtrachiot 1 M for check) 2M
8000 — 6764 Ans 1236
14 Find the product: 4AM
(a) 3147 x8 =25176 (b) 64 x 372368
(0.5 for first step,1M for
second and 0.5 for third)
15 Name two objects each which have following shap& (M for each correct | 2\
answer)
(@) Sphere Football, Globe etc.
(b)  Cuboid-Book, Almirah, brick etc.
Section D
16 Draw a cone. Mark its vertices, edges and fad&sme two things which are | 3\
cone in shape.
Drawing 1M
Marking 1M
Examples 1M
17 Look at the calendar and answer the following quegins( 1M for each 3

correct answer)

Mon | Tue Wed [Thu |Fri | Sat|Sun
12| 3| 4
) 6 7 8| 9| 10 11
12 | 13| 14| 15| 1617| 18
19 | 20| 21| 22| 2324| 25
26 | 27| 28| 29

(a)Which month is reflected in the calenddf@bruary
(b) Is it a leap year ? Leap Year
(c)How many Thursday’s are there in the montBThursdays

(d)How many Sundays are there in this month8undays




(e)How many days are there in this ye&86 day:
(f) Which day falls on 23 0f this month? Saturday

18 (@) There are 35 pages in one book. How many pagdkenein 29
books?
No. of pages in 1 book 35
No. of pages in 29 books 35x 29 (0.5M)
= 1015 books (1.5M)
(c) Do you read books? Why should we read booki®) (
19 Binu has 5235 marbles. | have 8532 marbleso Was more and by how
many?
No. of marbles | have = 8532 ( 1dr statements)
No. of marbles Binu have = 5235 ( 0.&rfoperation)
Difference = 3297 (Difference 2M)
Hence | have 3297 more marbles
20 (a)Write the number name for 7286.

Seven thousand two hundred eighty six (M

(b)Find the sum of place value and face value iaf&54.
Place value of 5 =50 (0.5M)
Face valueof 5 =5  (0.5M)
Sum= 55 (1M)




